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Jgfz] K %  |OUT] IN [ GR HDCP NET B Jgfz] K %  |OUT] IN [ GR HDCP NET fB% Jgfi] E 4 |OUT] IN | GR HDCP NET %
M 50 | 48| 9830.0 |68.0 |AH 41 [EE 51| 46 97]16.0 810 81 [hn #EZ 48 | 54102 [17.0]85.0
B HET 48 | 49| 97280 69.0 | A% INy$35 42 | KL 49 | 49| 9817.0]81.0 82 |tk BE 48 | 56 |104 | 19.0 | 85.0
i iE 45| 50 | 95| 26.0 | 69.0 | AH INyp37 43 | A 2B 48 | 50| 98 17.0]81.0 83 |XH 85k 48 | 56 |104 | 19.0 | 85.0
A 18T 47| 42 89/19.0]70.0 | A% BG M \NE FHH 50 | 53 103 | 22.0 | 81.0 84 |HH # 46 | 55101 | 16.0 | 85.0
B HA 47 43| 90 19.0[71.0 (A% 45 |EiH BB 49 | 521101 /20.0]81.0 85 |fFEE ok 49 | 59108 | 23.0]85.0
SE 46| 49| 95]23.0]72.0 46 ME # 50 | 53 103 | 22.0 | 81.0 86 |2 BT 53 | 63 116 | 30.0 | 86.0
EHR B 43| 47| 90/18.072.0 NREEE T 54 | 46 100 | 18.0 | 82.0 87 Ml AfE 57 | 54 |111 | 24.0 | 87.0
MEE 2 40 | 51| 91/19.072.0 48 |\XF E 54 | 47 101]19.0 820 88 |$RiA AR 59 | 58 |117|30.0 | 87.0
BEE B 51 47| 98 |24.0 | 74.0 19 \HE RS 54 | 51 105 23.0 82.0 89 |HM =H 54 | 54108 |21.0 87.0
BAEY! 46 | 46| 92/18.0]74.0 50 |BIR A 57 | 55112 [30.0  82.0 90 |dAt ARk 53 | 54 /107 |20.0 | 87.0
Wil BX 45| 47] 92]18.0]74.0 51 [E BE 53 | 52 105 | 23.0 | 82.0 91 [/)NEF PE— 55| 60 115 28.0 | 87.0
gk f2—ER 43| 47 90 16.0 74.0 52 |pIEE —Bk 49 | 49| 9816.0]82.0 92 |8 8% 50 | 57 |107 | 20.0 | 87.0
13 1B =i 47| 47| 94/19.0|75.0 53 A FIE 49 | 51100 | 18.0 | 82.0 93 | M 57 | 51 /108 | 20.0 | 88.0
14 |E@ EZE 45| 47| 92/17.0]75.0 54 |1BF E= 50 | 55 105 | 23.0 | 82.0 94 |HE HF 61 | 56 |117 | 29.0 | 88.0
15 |&3 E8 45| 49| 94/19.0]75.0 55 [4hE ER 44| 57101 /19.0]82.0 95 [tM B— 60 58 118 | 30.0 | 88.0
16 [=iB #% 49 | 56 105 [30.0 ] 75.0 56 [NE H— 50 | 49| 99 ]16.0 |83.0 9% |28 —# 53 | 53 [106 | 18.0 | 88.0
17 [#ig EZ 43| 50| 93/18.0]75.0 57 % F& 51| 51 102 |19.0 | 83.0 97 A% Al 50 | 58 |108 | 20.0 | 88.0
18 |Z@ EE 49 | 46| 95/19.0]76.0 58 4Ll 15 49 | 52101 |18.0]83.0 98 |fEM P& 53 | 65 118 | 30.0 | 88.0
19 [NVE EK 51 | 52 103 |27.0 | 76.0 59 |=% H—#B 47| 52| 99/16.0|83.0 9 |EH =h 61 | 55116 | 27.0 | 89.0
20 | —(= 46 | 48| 94/18.0]76.0 60 |INE {517 54 | 59 113 |30.0 | 83.0 100 |fEBE I 57 | 56 |113 | 23.0 | 90.0
21 (A E— 45| 49| 94[18.0]76.0 61 |BAN 50 | 56 106 | 23.0 | 83.0 101 [R #hA 55 | 55 110 | 20.0 | 90.0
22 |FH e 54 | 45| 99 |22.0 | 77.0 62 NE E— 47 | 53100 | 17.0 | 83.0 102 |tk {548 56 | 52 /108 |16.0 92.0
23 HH Sk 54 | 51105 28.0 77.0 63 Bl fh— 60 49 109 | 25.0 | 84.0 103 [Kil #F 55 | 55110 | 18.0 | 92.0
24 |ER —% 48| 47| 95/18.077.0 64 |%5M HI— 54 | 46 100 |16.0 84.0 104 [AF EX 56 | 53 /109 | 16.0 | 93.0
25 | L R&RE 51 | 50 101 | 24.0 | 77.0 65 ANE A 54 | 48 102 |18.0 | 84.0 105 &3 2 55| 58 |113]19.0 | 94.0
26 |EEH M2 47] 48] 95[18.0]77.0 66 |l BEE 54 | 48102 ]18.0 | 84.0 EEEES 53 | 61 114 | 20.0 | 94.0
27 |EHE ik 44| 50| 94/17.0]77.0 67 B2 = 51| 49 100 |16.0 84.0 107 |2 JE— 60 | 58 118 | 23.0 | 95.0
28 |MNE M 45| 51| 96/19.077.0 68 AN 51 | 49 100 | 16.0 | 84.0 108 |#F 58 | 56 |114 | 19.0 | 95.0
29 |RA A 45 | 54| 99 22.0|77.0 69 \FHII B 52| 51103 |19.0 84.0 109 [hAt A= 59 | 59 118 23.0 | 95.0
30 BB % 54| 43 97[19.0 780 70 JIg B 51| 52103 ]19.0 84.0 110 |28 #& 55| 57 1112 ]16.0 | 96.0
31 B8 BE 51| 44| 95|17.0 | 78.0 1 N ED 51| 53104 ]20.0 | 84.0 111 [fE EX 58 | 56 |114|17.0 | 97.0
32 |Bh X 48 | 47| 95/17.078.0 2 BI #— 49 | 53102 |18.0 | 84.0 112 [#pE  FHEP 70| 58 128 28.0 [100.0
33 B A 44| 50| 94/16.078.0 73 FA 50 | 54 104 | 20.0 | 84.0 113 |MEE &= 60 | 71 |13130.0 |10L0
34 =% WA 46 | 53| 99|21.078.0 74 (RNE S 49 | 54103 |19.0 | 84.0
35 ish —f 50 | 51 101 |22.0 | 79.0 75 Pl HEAN 50 57 107 | 23.0 | 84.0 wim | HE BR 43| 48| 91| 27.0 | 64.0 ;15
36 |FE A% 50 | 53103 ]24.0 | 79.0 6 tE @ 52 | 61 113 ]29.0 | 84.0 ans [BE BN 49 | 53102 |30.0 | 72.0 |15
37 [BER ik 52 | 48 100 | 20.0 | 80.0 7 kB FE 55 | 50 105 | 20.0 | 85.0 ank | T1E 50 | 44 | 94 19.0 | 75.0 |gi[E [2024.2]
38 AR BZ 50 47 | 97 |17.0 | 80.0 78 M 55 | 50 105 | 20.0 | 85.0 mem A EHt 57 | 49 106 | 28.0 | 78.0 M50
39 HEM@ Ek 49 | 48| 97/17.080.0 79 A &k 51 52 103 | 18.0 | 85.0 s S E— 52| 51 /103 19.0 | 84.0 |§i[E [2024.7)
40 WLE AR 50 | 53 103 | 23.0 | 80.0 80 \LEH =h 51 | 53 104 | 19.0 | 85.0 R RE &
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